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E. Escape along Water Pipe

gd

000 $nxm$ 000000 $Q)$00000O0O00O0O0O0O $(hm$OOOODODODOODOODOODOOO

O0s$03)s0 00000000000 D#4s00000SS0ID0O00DO0O0DDOO $90,180,270$0 O
gobogobooobobooon

000000 $NO$SODDODOOD $YES$ 0O ODODDODO00D0 OO0 $(xy)$ 00 $0,x,y$ OO
000000000 $1$0000$$0000$$00000000000000 $20mn$[$T$O0000

O0000[0$T=<10000,2=m,n<1000$]0 00000 $nxm$ 0 O O $10™M{6}$0

gd

Oo00obOoooo/obonog

O00O0 $BFS$ 0000000000000 DO000DOOO00OOO0O0OO0D $dx,dys0ooQd
gobooobobooooooobbooobbuooobooobbooobbooobbooobobag
O0O0000O0o0o00O@oOooOooOooooO)yuoooooooDoooOooo $BrFS$ O OO0OODOO
000000000000 000000000000000O000D0000 $0(nxm)$0000CODO

#include<bits/stdc++.h>
using namespace std;

int dx = {-1,0,1,0}, dy = ,1,0,-1};
int a ;

int wg ,01,10,14,41,2},12, ;
int zg y35,10, ;

char dp ;

int f o

int n,m;

deque<int> q;

vector<int> pans;

const int maxn= +5;

bool check(int x,int y
X>0&&X<=n+1&&Yy>0&&y<=m;

void dfs(int x,int y,int fx
int from = f[x|[y|[fx];
I from ;
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int tmp=from;
int Ufx=tmp%4;
tmp/=4;
int ly=tmp%maxn;
tmp/=maxn;
int lx=tmp;
dfs(1x, ly, Lfx);
allx][lyl<
int 1=0; i<4; i++
int tmpi=0;
tmpi<2&&wg| i
tmpi==

int 1lfx=wgl1i -tmpil;
int ffx=11fx>17(11fx-

ffx==Fx
allx]| [lyl!=1i
pans.push back
allx! [ lyl=1i;

pans.push back(lx*maxn+ly);

’

int 1i=0; i<2; i++
int tmpi=0;
tmpi<2&&zg|i
tmpi==

int llfx=zgli -tmpil;
int ffx=11fx>17(11fx-

ffx==fx
allx][ly!-

//printf ("%

tmpil !'=1fx

tmpil !'=1fx

%d %d %d

tmpi++;

Ly | +8) %4*maxn*maxn+1x*maxn+ly) ;

tmpi++;

1

%sd\n",maxn*maxn+ix*maxn+ly, Ix, ly,al[lx][ly],1);

pans.push back(maxn*maxn+lx*maxn+ly) ;
allx] [ ly|=i+4;

pans.push back(lx*maxn+ly);

’

int main
int t;
scanf("%sd",&t);
t--
scanf("%d %d",&n,&m) ;
int i=1; i<=n; i++
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int j=1; j<=m; j++
scanf("%d",& il []j]);

int i=1; i<=n+1; i++
int j=1; j<=m; j++
int k=0; k<4; k++
dplilljlki=Ffli]l[j] KkI=0;

dp =1;
g.push _back(maxn*4+4);
Iq.empty
int qgf=q.front();
int tmp=qf;
g.pop front();
int fx=tmp%4;
tmp/=4;
int y=tmp%maxn;
tmp/=maxn;
int x=tmp;
tmp>n ’
alx|lyl<
int i=0; i<4; i++
int tmpi=0;
tmpi<2&&wg [ i ] [tmpi| !=Ffx) tmpi++;
tmpi== ;
int 1fx=wg|i -tmpil;
int xx=x+dx|[1fx|,yy=y+dy| lfx];
int ffx=1fx>1?(1fx-2):(Lfx+2);
check(xx,yy ) &&!dp i xx|yy | ffx
dpixx|lyy! [ ffx!=1;
fixx|lyy!l [ ffx/=qf;
g.push back(xx*maxn*4+yy*4+ffx);
//printf("sd\n", xx*maxn*4+yy*4+1fx);

int i=0; i<2; i++
int tmpi=0;
tmpi<2&&zg i [tmpi| !=fx) tmpi++;
tmpi== ;

int lfx=zgli -tmpil;

int xx=x+dx|[1fx|,yy=y+dy| 1fx];

int ffx=1fx>1?(1fx-2): (lfx+2);
check(xx,yy)&&!dpixx ! [yy]|[ffx
dplixx|yy!|[ffx]|=1;
fixx!lyyl [ ffx]=qf;
g.push back(xx*maxn*4+yy*4+ffx);
//printf("%sd\n", xx*maxn*4+yy*4+ffx);
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ldp[n+1]m
puts("NO");

’

puts("YES");
pans.clear();
dfs(n+1,m,0);
int sz=pans.size();
printf("%sd\n",sz);

int i=0; i<sz; i++

int tmp=pans|i]|;

tmp<maxn*maxn
printf("%sd %d S%d\n",0,tmp%(maxn*maxn)/maxn,tmp%smaxn) ;

printf("%d %d %d
%d\n", 1,tmp/ (maxn*maxn)*90, tmp% (maxn*maxn)/maxn, tmpSsmaxn) ;

G. Game of Swapping Numbers

ud

0000000 $n$000 $AB$S0O $Sk$ D0 OD0DDODOOOOODODO $aia j$sd

000 $ks0OoonoooOd $\sum {i=1}"nla_i-b_i|$0
HEN

0000000 $ks0OO0O0O0O0O

000000000 $aibis000 $n$s0000000%$0000 $n$ 0000000 $-$000
ddodooooooouoooo

000000 $aibis0$2n$ 0000 $n$ 000 $+$000000000000000000
$a ibi¢ 0000000

00000000 $(+ai,+b i)(-aj-bj)$000 $aiaj$ 00 000000000000
00000 $k$0000000000000000000 $(+a_i,+b_i)(-aj-bj)$ 00000

00000 $2(\minfa_ib_i)-\max(a j,b j)$00 0000 $\min(ai,b )$ D0D0O0OO

https://wiki.cvbbacm.com/ Printed on 2023/06/01 16:53



2023/06/01 16:53 5/10 00

O0$\max(a_i,b )$ 0000000

000000 $k$ 00000000 $(+ai,+b )$ 0 $\min(aib )$ 0000000 $(+a_i,-b i) (-
a_i,+b i)(-ai-b )$ 0000

00 $(-a_i,-b )$ 0 $\max(a_i,b )$ 0000000 $(+ai-bi)(-ai,+b i)(+ai+b )$ 0000

000000000 $(+a_i,+b )$0 $(-a-bj)$ 00000000000 OO0ODOO0O
$2(\min(a_i,b_i)-\\max(a_ j,b jH)$ 00000000000

000 $ks 000000000 0ODO0O0O0ODOO $n\gt2¢000000000O0ODO %aiajsnonooOd
00000 $k$Q0 O sk$s OO ODOODOOODODOOO

00 $n=2¢000000000000000000000000000000O00000O000
$0(n\log n)$[

const int MAXN=5e5+5;
int alMAXN],b[MAXN];
int main

int n=read int(),k=read int();
_for(i,0,n)alil=read int();
~_for(i,0,n)blil=read int();
n==
k&1 )swap(a ,a ;
enter(abs(al0]-b +abs(a -b ;

’

LL ans=0;
_for(i,0,n
alil>bli
swap(alil,bl[i]);
ans+=b[il-alil;

sort(a,a+n,greater<int> o
sort(b,b+n);
_for(i,0,min(n,k
ans+=max(0,alil-b[i])*2;
enter(ans);

’

l. Increasing Subsequence

gd

OO0 $1\simn$ 0 0000000000000 000ODO0O0O0O0O0O0O0O0O000O0O $i,j$0

0000000000000 $kati,p kgtp j$f0 00000 $k$ 00D OO0O0ODOODOOOODODOO
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ug

0000000000000 $sk\gtj,p katp is000000O $k$O0 000000 DO0O0O0OODOOOO
RN

ooooooooOD $i=0,j=0,p 0=0$00C0COC0OCOCOCOOCOCOO

gd

O $\text{dp}(i,))$ 0000000000 $k\gei,p Kgtp j$0000000O0O[0%text{cnt}ij$ 00O
00 $k\gei,p k\gej$0 $k$ 00000

000000000000 $p Nepj$f00 000 $p_ is00 00O $\text{dp}(i+1,j)\gets \text{dp}(i,j)$0
OO0 $pi\gtp j$00 $p i$ 00 0000000000000 00O0 $pi$ 000 $pisf0000 OO0

$$ \text{dp}(i+1,j)\gets \cfrac {\text{cnt}(i,p_j+1)-1}{\text{cnt}(i,p_j+1)}\times \text{dp}(i,j)\\
\text{dp}(j+1,i)\gets \cfrac 1{\text{cnt}(i,p_j+1)}\times \text{dp}(i,j)\\ \text{ans}\gets \cfrac
1{\text{cnt}(i,p_j+1)}\times \text{dp}(i,j) $$

000000000000 $text{cnt}$I0 000000000 O0O0O0OO0OO0O $0(n™2)$00 000
O $\text{dp}(1,0)=130

#include <iostream>
#include <cstdio>
#include <cstdlib>
#include <algorithm>
#include <string>
#include <sstream>
#include <cstring>
#include <cctype>
#include <cmath>
#include <vector>
#include <bitset>
#include <set>
#include <map>
#include <stack>
#include <queue>
#include <ctime>
#include <cassert>
#define for(i,a,b) for(int i=(a);i<(b);++1)
#define rep(i,a,b) for(int i=(a);i<=(b);++1i)
#define mem(a,b) memset(a,b,sizeof(a))
using namespace std;
typedef long long LL;
inline int read int
int t=0;bool sign=false;char c=getchar();

lisdigiti(c sign|=c=='-";c=getchar();
isdigit(c t=(t<<l)+(t<<3)+(c&l5);c=getchar();
sign?-t:t;
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inline LL read LL

LL t=0;bool sign=false;char c=getchar();
lisdigit(c sign|=c=="'-"';c=getchar();

isdigit(c t=(t<<
sign?-t:t;

inline char get char
char c=getchar();
C::I I||C::'\n'||c:
c,

inline void write(LL x
char c , Llen=0;
Ix putchar('0’
x<0)x=-x,putchar('-");
X)cl++len]=x%10,x/=

len)putchar(c|len--

inline void space(LL x){write
inline void enter(LL x){write
const int MAXN=5e3+5,mod=

+(t<<3)+(c& ;c=getchar();

='\r')c=getchar();

,void () ;

+48) ;
X),putchar(' ');
X),putchar('\n');

?

int p/MAXN]|,inv [ MAXN|,cnt MAXN||[MAXN|,dp[MAXN| [MAXN];

int main

int n=read int(),ans=0;

_rep(i,1,n
plil=read int();
cnt ++
cnt plil+ll--;
cnt[i+ --:

cnti+ plil+1]++;

inv =il

_rep(i,2,n)inv[i|=1LL*(mod-mod/i)*inv|mod%i |%mod;

_rep(i,1,n) rep(j,1,n

cntli][jl+=cnt/i- jl+entiil[j-1]-cnt[i- j-11;
dp =1;
_for(k,1,2*n
_rep(i,max(k-n,1),min(n,k
int j=k-1i;
dpli+1][jl=(dp[i+1][jl+dp[i][j])%mod;

plil>pl]

int t=1LL*dp(il[j/*invicntii| (p[j|+1]|%mod;

dpli+1][jl=(dpli+1][j|+mod-t)%mod;
dplj+1][il=(dp[j+1][1i]+t)%mod;
ans=(ans+t)%mod;

enter(ans);
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J. Journey among Railway Stations

ud

00 $n$ 000000 $i$00000 $[uivil$00O0 $i$000 $i+1$4 0000 $cis 00000
0 $q$0000

1. 0000000 $x$000000 $y$000O0O0O0O0O $0$0 0
2. 0000 $c_i$
3.0000 $luiv il$

0000000000000 000D0000 %i$00000000 $i+1%]

gd

000000 $f(rht)s0000000 $t$0000 $Is000 $r+l$ 000000000000

$$ f(i,i,t)=\begin{cases} c_i, & O\le t\le u_i\\ c_i+(t-u_i), & u_i\lt t\le v_i \end{cases} $$

00000 sillep\tksgo $f(i,kt)=f(+1,kf(ij,))sf0 0000000000 $f(,ns000000000
$$ f(i,j,t)=\begin{cases} y, & O\le t\le x_1\\ y+(t-x_1), & x_1\It t\le x_2 \end{cases} $$

D000000ooooo $(r$soooon $f(rn)$00000000000000000 $0(n\log
n)$0

const int MAXN=1le6+5;
int u[MAXN],v[MAXN],c[MAXN];
struct Node
bool legal;
LL x1,x2,y;
S| MAXN<<2 |;
Node add(const Node &a,const Node &b
Node c;
c.legal=a. legal&db. legal;
c. legal
a.y>b.x2
c.legal=false;
a.y>=b.x1
c.x1l=a.x1;
C.x2=min(a.x2,c.x1l+b.x2-a.y);
c.y=b.y+a.y-b.x1;
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c.xl=min(a.x2,a.x1l+b.xl-a.y);
c.x2=min(a.x2,c.x1+b.x2-b.x1);
c.y=b.y;

O
int lef[MAXN<<2],rig/MAXN<<2];
void push up(int k

s/ kl=add (s k<<l],s[k<<l] ;

void build(int k,int pos

s/ k! .legal=true;

s k].x1=ulpos|;

s k].x2=v|[pos|;

s k|.y=ul[pos|+c|pos];

void build(int k,int L,int R
leflk!=L,riglk|=R;
int M=L+R>>1;
L==R
build(k,M);

’

build(k<<1,L,M);
build(k<<1|1,M+1,R);
push up(k);

void update(int k,int pos
lef ki==rig/k
build(k,pos);

?

int mid=lef|k|+rig/ k/>>1;
mid>=pos
update(k<<1,pos);

update(k<<l|1,pos);
push up(k);

Node query(int k,int L,int R
L<=lef|k|&&rig|k|<=R
s[kl;
int mid=lef|k|+rig/ k!>>1;
mid>=R
query(k<<1,L,R);
mid<L
query(k<<1]|1,L,R);

add(query(k<<1,L,R),query(k<<1|1,L,R));
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int maln

int T=read int();
T--
int n=read_int();
_rep(i,l,njulil=read int();
_rep(i,l,n)viil=read int();
_for(i,l,n)clil=read int();
build(1,1,n);
int q=read_int();
q- -
int opt=read int();
opt==
int l=read int(),r=read int();
Node ans=query(1,l,r);
ans.legal
puts("Yes");

puts("No");
Opt::
int pos=read int();

clpos!/=read int();
update(1,pos);

int pos=read _int();
ulpos!/=read int();

vipos|=read int();

update(1,pos);

EREpEEN

xmj0 00000000 Odyyds

O0000000000wzbOOOOODOOOOOOO
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